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Crystal Bolero

EASY KNIT




Crystal Bolero
EASY KNIT

This Bolero is made with 2 rectangle lengths (like 2 scarfs), knitted
in a rib stitch. They are joined together along the (scarf)lengths,
where space is left for armholes. The cast-off edges are seamed
together, and the cast-on edges are seamed to each other; which
creates a contoured and sculptural look to the garment as they
fall to the front. The Bolero is one size fits all; leaning to gener-
ously sized.

MEASUREMENTS

ONE SIZE
Chest Width 65-70cm
Body Length i
(Front) 60-70cm

YARN REQUIRED
Makr CRYSTAL Yarn 2509 balls
3

NOTE: This pattern is written in British English. All measurements in
charts and instructions are in cm. For conversion from centimetres
to inches please divide by 2.5cm. Please be aware that there are
different terms for crocheting and knitting in American and British
English, if in doubt, we've included a list of common abbreviations.

Please use only the yarn specified. Another yarn
is likely to yield different results. Quantities are
approximate as knitting styles may vary between
knitters. Check the ball bands to ensure all yarn is
from the same dye lot.

DIFFICULTY @

NEEDLES AND EQUIPMENT:
A pair of 8 mm knitting needles, 35cm length
Wool needle for sewing in ends

TENSION:
18 stitches x 13 rows K1/P1 Rib with 8mm needles = 10cm x
10cm

KNITITNG ABBREVIATIONS:

K knit

P purl

St(s) stitch(es)
BOLERO

BODY PIECES - Make 2.

Rib Stitch Cast on 46 sts with 8mm needles; *starting with
needle in the front of st, then next cast on stitch place
needle in the back of st to cast on* repeating this alternation
*to *. This is so the cast on will emulate a k1/p1 rib st.

Row 1 -150:
Work K1/P1 RIB,

Cast off in rib (k1/p1) stitch.

FINISHING

Darn 2 rectangle body pieces together, starting by joining
cast-on edges together.

Placing the 2 rectangles, one on top of the other, count 40
rows of each rectangle which forms the first armhole.
Starting at the end of the 40 rows, darn 70 sts of the two
recangles together which forms the back of the garment.
Skip 40 rows which forms the other armhole.

Join cast-off edges together.



